/N6 FEH THOmIEl 2 M & KA

BEHOTWVWESEOEBEZROEL LD, =L, HAZRIEXI. 14ELLFET,
(1) 10cm (2)

() (=)

ZEZ ZEZ
(3) (4) 10cm

10cm

() (=)

| T
i
b
i




e EHW THOERI 2 fFE - fE

(1) %) () 10x10=100 5x5x3.14=78.5
100—78.5=21.5
(fRew)] - 10om -

s

10cm

N

N 5Nt

BEHOTHSEEF, EAROEENS, EL>TLWAIADEEZ VTIERSD
bNFET,

(2) [B%) (X) 6x6x%x3.14+-2=56.52

ZZ 56.52cm?
[#ZEER]

QD*HIEX, ODFAEBLMEDT, KDL IZEMLTHEMDFAE
LTEANEROONFT,

(3) [fE%]) (%) 8x8x%x3.14-2=100.48
4xXx4x3.14+-2=25._12

(#255]

XESMOADHIZHEZE4mOELHY, COFEFRAIMOHOEBZVEZD
EOoOEBENEEZH S -EHrOEBEELYROENET,

(4) [2%)] 10x10=100 5x5x3.14=78.5

100—78.5=21.5 ZZ 21.5cm?
(fReR) — P

, EFDO LS, #HERESI< &, JMNaDTEET,

10em

nzEEEEEdE, (1) ERLCEAMNTEET,
EAROEENI D, ADEBZOITIE, BZh o7 OEENKOONET,



